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This paper is of two hundred (200) marks containing four (4) sections.
Candidates are required to attempt the questions contained in these sections
according to the detailed instructions given therein.
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YT T ST ITET o T3 faga feEomt o STER 3T €1



Note :

SECTION - I
Qus -1
This section contains five (5) questions based on the following paragraph. Each
question should be answered in about thirty (30) words and each carries five (5)

marks.
(5x5=25 marks)

T4 e § fefafed srmse W enuifia o (5) W9 § 1 Uish U9 ol ST oo g

J—3109 3 P.T.O.

(30) wIsi H oTUfard €1 Uk U9 U (5) SRl H1 ) (5x5=25 3iek)

The elements of one language can be found with the elements of another
language in a number of linguistic processes arising out of languages in contact,
such as borrowing, diffusion, convergence, pidginization, creolization, switching
and mixing. Each of these processes has different sociolinguistic and linguistic
characteristics. Switching and mixing are marked by the two characteristics
mentioned below. No new grammar is created beyond the grammars of the two
languages involved, as one of them is glued to the other without changing it ;
and the mixed code (and the bigrammar) is indeterminate and is created anew
by each speaker in each speech act and is not transmitted across generations.
Switching, on the other hand, takes place when there is a change in the speech
event. The difference between switching and mixing is that in mixing the speech
event is constant, with no variation in participants or topic, and the participants
have knowledge of both languages. Moreover, mixing is commonly done in the
duration of a unit of grammar. Switching, on the other hand, is commonly done
in the duration of a unit of discourse. A bilingual speaker may choose a mixed
code in a particular social context, in which case all sentences in the entire
discourse may be mixed. Since actual mixing is indeterminate, it is possible for an
unmixed sentence to follow a mixed sentence. Switching may take place between
mixed codes and is not restricted to unmixed codes alone. The switch may be, for
instance, from mother tongue mixed with other tongue to other tongue mixed
with mother tongue. These make it diffcult to distinguish between mixing and
switching based on linguistic elements alone.  Broadly speaking, mixing is a
linguistic strategy to give effect to communicative intent, primarily involving social
meanings (including the one of social value as in mixing the standard dialect).

Switching is a discourse strategy in cooperative communication that reflects



preferred language choice for the topic of the conversation, which may be
changing, or for the set of participants in the speech event, who may be changing
or whose relation may change may at a particular point in the conversation.
While switching is found only in balanced and stable bilinguals, mixing can
be found in all bilinguals including incipient and attrited bilinguals. Mixing is
largely motivated by the need to fill gaps in the linguistic competence of the speaker
in incipient and attrited bilinguals (in contradistinction with mixing in balanced
and stable bilinguals). To that extent, mixing is determined in these types of
bilinguals. The constraints on mixing are not likely to be same in stable, incipient,
and attrixed bilinguals. It will be interesting to compare the data for these three
types of bilinguals to discover which features they have and do not have in

common.

Al 6 HETR S8 e, feorewor sfior, fositertor, fsnafiefisrtor, e aftad
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IR e iR fafkmeard &t €1 e uiera Jen wie fagw w31 faftearsd @@
SootE i foran man &1 forel) off e samehtor 1 fmior 59 ST srneti 3 el | STer
Tl 21 Tl k! THH Teh A1 g ATt fort ot ufiad o 36 R yure eerd €, ae
Tafsa s (qen feeamentor) STMHfv=d a1 € G & a1 SR § & ] o 51R1 9¢ X 9
TfSid BaT & a0 2T areft difed! ohl Tefia T2 g1 | gHd 31 e ferd= 7« Bl § 5
SRS § YR Bl €1 i TRads 9o sie fagw § o e € & fago & o
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e # fufya @re &1 == # wohar ¥ fad @ Wife & weft o fafya & 9 ©
Fiffer ameafoss fagon siffyea S €1 3 off wwva © i stfafaa o % o fafaa s

3T | e ufed fafsra el & oft @ Wehdt § a°1 A hae AMfHa wie 9 & Sifha T2
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¥ 1 IREds SR & T, 1= e o wny fafiyd wrg-sme IR Aig-men % e fafya
3T W91 SH1 § B Hehdl & | I hael WIfeh dwall IR STERA e g qen e IR
T 9 LA Hfcd I AT | ATTh €9 9 <@ 1 i g TH wiftes g & 5 wifta
T I genfed et © forad ger: g st (we sett % fago o e et
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fgnfiedi, yrfyer qen Spfaa-adt # faar wehar €1 g geora: urfies qen dsfed
feanfoedi & orep1 o6t wroie emansti o Rbarell &1 90 w1 % Sevd ¥ IR grn 1 fasor
ST ST, T, YR den Hepfera fgunfoai o we 9o 21 § avve 11 ¥ 1 9% 9
F & T 379 S | T T9M § 3R A | T T9H T2 © 39 A1 TR o6 fgafed

ST AT T T BT Teh |

1.  What are the major differences between switching and mixing ?

I Uferd= a1 FIe fagu & ge o= F § 2

J—3109 5 P.T.O.



2.  Give an account of the strategy employed in switching.

%I qREd o ITAN st ST At gfbal o 9N H Jarsy |

3.  Explain why mixing is a linguistic strategy ?

e fagu 3= aoE e ¥, = s ?

J—3109 6



4.  Where do you find Bilinguals, and what motivates bilingualism ?

feumdt for Tt ® 2 €, 2R fgenfesrar forad IR Bt ©2

5.  List why no new grammar is created beyond the grammars of the two languages
involved ?

fafea <1 wrns®i | we fohe € =mehtr 1 Ffo <=1 <76t e, S5 RO Sl oG Hifad |

J—3109 7 P.T.O.



SECTION - II
Qug —1I1

Note : This section contains fifteen (15) questions, each to be answered in about thirty

(30) words. Each question carries five (5) marks.
(5x15=75 marks)

A : 3 @ UrE-did (5-5) 3l o G (15) T & | Tk T o1 ST AT 19 (30)
weal § 3TUferd ©
(5x15=75 3ich)

6. What is a spectrogram ?

TR R ?

J—3109 8



7.  What are the salient features of generative phonology ?

YoTeh A % THE &0 1 € |

8.  Distinguish between inflection and derivation with suitable examples.

T 3T <A T ®AMFSY (inflection) T ¥eg FEM (derivation) T 9T W HIfTT|

J—3109 9 P.T.O.



9.  What is the lexicalist hypothesis ? explain
YEETAANTA HTehes 1 9 § ? ST hifory |

10. What is the main difference between strong crossover and weak crossover ? Provide
appropriate examples.

et SAfashaor qen faferer sifashaer # g o= 9 ¥ U STl ST |

J—3109 10



11. Provide a syntactic definition of scrambling.

TR (scrambling) = SR TR ST |

12. How do you distinguish between tense and aspect ? Provide suitable examples.
el o U7 4 379 fohd FehR 9 T | Tl I < |

J—3109 11 P.T.O.



13. Provide the logical formulations in English of universal and existential quanti fiers.

HAUSH H Ty qe AEdcam= IRHAT areeh &1 difsheh &g ShifSa |

14. distinguish between intimate, dialect and cultural borrowings.

1fareh, (Shia®) e qen feafa feeq & emg o= 9g =i |

J—3109 12



15. How do you distinguish between corpus planning and status planning ?

FHIYH AT (corpus planning) q QEH AT (status planning) T 95 e |

16. Distinguish between elaborated code and restricted code.

ek e q1 g e H§ 9 dEy |

J—3109 13 P.T.O.



17. Write a note on Broea’s aphasia.

SiehT STHTSIAT (Broca’s aphasia) W feuquit fafem |

18. Explain with examples interlanguage errors and intralanguage errors.
ST <161 qT ST TS SIS oh! SSedvl Tfed A Hifsy |

J—3109 14



19. List some of the important features of languages spoken in south Asia.

Sfeqor T o el ST At 9rsti o 5 HEqegul foRarst! i geteg i |

20. Write on the major differences between literacy and scientific translations with
examples.

YMfekeh $TIAIE TE Aok STIATR Sl WS oasy |

J—3109 15 P.T.O.



SECTION - III
Qug —II1

Note : This section contains five (5) questions from each of the electives / specialisations.

21.

22.

23.

24.

25.

The candidate has to choose only one elective / specialisation and answer all the
five questions fromit. Each question carries twelve (12) marks and is to be answered

in about two hundred (200) words.
(12x5=60 marks)

T8 Te B s Voo gt/ fagmmar @ uie (5) WA €1 37eeff 1 shaw U Ufesh
ShTS / TorRIo=TaT <Rl ent ST H 9 UTE Y91 1 STR ST § | Teish ¥ 9IE (12) ki ol
¥ 9 ST ST AT A F(200) IRl H STUfRT B

(12x5=60 3ih)

Elective - I

faerea —1

How is computational linguistics related to philosophy, psychology and artificial
intelligence ?

Ffe AT o= 1 <3, HAifaR Ue i gfqy fom (artificial intelligence) | 1T

ey g ?

Discuss the role of a morphological analyser in POS tagging.
POS i # ®urete fawei¥eh (morphological analyser) T 1 fHehl € ?

Give an account of the limitations of machine readable dictionaries

HINT-TST 9T <hIei ki -1 HIHTE & 2 == hitord |

Write on the advantages of Tree Adjoining Grammar in analysing sentence structure.

R T faveiw ol § TAG (21 TSI TR ) hi SUeddl W == e |

Write a note on the technology of ‘Text-to-speech” systems.

TTS (e T ¥i=) faed & dohrier T T femoft fafed |
OR / 3terar

J—3109 16



21.

22.

23.

24.

25.

21.

22.

23.

Elective - II
faerca—11

Discuss the importance of locality in the minimalist system of case checking illustrating
your answer with ECM (Exceptional Case Marking )and small clause constructions.

%9 Afeh % e fowen | diskfedt &1 91 7ed €, 3709 SW H (3.1, ) THueHe
G T 3R Y IS AT §RI AR HifT |

Discuss the relative advantages of an AGR -based clausal architecture over a traditional
one

TS 3TR 1o Suared FHior vl UReafieh W%y sl qoin B o1 oy € 2

Discuss the advantages of having multiple specifiers in the clausal structure.

3 I e B ag-fodent % 29 & oy ¥ 2

Discuss the role of the Least Effort principle with respect to the derivation of

Roshan did not write letters from the following :

Roshan T NEG AGR

39 91 ' A fee Aie Tge ofeq " &t F=ifend e ' e & 71 TSR 9 Fedtd o Ha

T (faaeataa fagm) =gaam v fagra &t e &t fae=m ST

Discuss the advantages of the copy theory of movement .

AT ht HIUT L o A bt fad=mT SHifsT)
OR / &

Elective - III
faerea —111

Distinguish between the phonological phrase and the intonational phrase with suitable
examples.

ST IS oh! TSIl § WHIH IgaY a1 SIS Jead H 95 Jared |

Write a note on the importance of tableux in optimality theory.

35 f9GT (optimality theory) ¥ Saiged (Tableux) i Hedl W fewuit fafau |

Explain the following concepts in relation to prosodic phonology : the syllable ,the
foot,the word.

TorEafae foam it 3fE 9 ffafea eeastl 31aR (syllable) =R (foot), Ie] i SATEAT
RIS |

J—3109 17 P.T.O.



24.

25.

21.

22.

23.

24.

25.

Distinguish between markedness constraints and faithfulness constraints and discuss
their effect on the output.

fafe< gfdsieli (markedness constraints) A2 e Gfdal (faithfulness constraints) ®
TR FAEE T T T 39k G4TE i == Shifeig |

Write a notes on :
(a) Constraint ranking
(b) prosodic morphology

freferfed = feoof fafex
(a) Hfdsi"g SRt (Constraint ranking)

(b) T &Y TR (prosodic morphology)

OR / 3rere

Elective - IV
famca—1v

“Men’s speech usually provides the norm against which women’s speech is judged”
Explain the statement.

*q%Y T AT WERIG: A YSH Ll ¢ FI8h SR T AfGensii S 9T o1 Jediehd foha
ST T, e Hifa |

Critically evaluate the statement “Language standardization does not depend on the
inherent quality of language but power is the main factor leading to standardization “

* SITHT HFThTHTOT TOT ki SAdf-fed Tl W 27enfia =&l Bt ¥, STag WY HFehIh0l i T
FHRU '’ TH FHUT I THrEIHS == BT |

Enumerate the three ideological barriers Labov has encountered in course of his studies
on social motivation of sound change.

e Ifedy & 9mifSes AMYTon & 27eqa" § el okl foha i1 o=l 279 sl |l
AT TS ?

What kind of linguistic signals are used to indicate that the speaker is about to give up
a turn ? Discuss.

STATATT | IRBT 3T AT BTSH i TR T SHP (e Hehd 91 & 2 <=1 hifIq |

What is linguistic competence ? How does communicative competence differ from
linguistic competence ?

TS &FHaT § -1 areqd & 7 Ieoer erar’ 3R 9ToTE &redn’ H R SR § 2 I hiteid |

OR / 3rere

J—3109 18



21.

22.

23.

24.

25.

Elective - V
fasmea—v

What is meant by ‘Cerebral Dominance ?

“yfeshta e’ (Cerebral Dominance) ¥ 3T Acad § 2
What are the different types of aphasia ?

fafve YeRR o sTSTEITd)/aTeTed SR § 2 = it |

Explain how knowledge of linguistics helps in devising assessment and therapeutic
tools and procedures in disorders of communication.

TS SIS okl YESE Td SUIR i | 1o faqma &) SRl 9 . e et € 2

Write a note on ‘stuttering’ .

H gaeT-gererr ' WX fewoh fafed

What are different types of developmental disorders. Enumerate the recommended
intervention procedures.

TRTECeh ATOT <19 o YR -1 1 & 2 WTHTId: YEdTiad U= isharsti o =19 odisd |

J—3109 19 P.T.O.
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SECTION - IV
g ue—-1V

Note : This section consists of one essay type question of forty (40) marks to be answered

26.

in about one thousand (1000) words on any one of the following topics.

(40x1=40 marks)

T T U Uk Ied (40) 3kl 1 Fa-ercdess 997 © foaen s fafafea fawy o
Y el Teh I, 9T Toh &SI (1000) vrsa § arufard &1
(40x1=40 3ih)

Evaluate the merits of unification based grammars.

TehTehL0l TR 3MYTRT AR (FMAFRRTH SFe UMW) o ATl T Jediohd il |

OR / AaT

Discuss the status of AGR in minimalism and the effects of eliminating it from the
clause structure.

fafmfeem § AGR &1 0 feufq  qen Iy 931 § 9! e & qumEl &t ==t
SHITST |

OR / 3rera

Write an essay on prosodic phonology.

TU-TEiH foM W Tk ey fafaw |
OR / 31T

“Diversity is precisely the subject-matter of sociolinguistics “ -Explain the statement.

“Sfaear fogrs ®1 9 gursTn faam &1 fawa €1 59 A Hi e wife |

OR / JAYaT

Write an essay on the models to explain brain language relationship.

sk Tg 9191 & Tl ol IRl i a9l (Aigel) ) ey fafau

J—3109 30
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